ROCNIKOVE ZKOUSKY 1. ROCNIK

PRUMER V JEDNOTLIVYCH PREDMETECH

praméry | CIL | MAT | ANJ | FRJ [ NEJ [ DEJ | FYZ [ CHE [ ZEM [ RUJ | ZSV | BIO [CELKEM
1A 2,72 | 3,28 | 1,66 1,00 2,50 | 2,00 1,88 | 2,33 2,43
5QA 2,251303|152]1,40] 214|167 2,00 | 2,67 | 3,00 1,44 ] 1,83 | 2,19
50QB 2,681 3,40 1,90 1,33 | 2,00 | 2,00 1,95| 2,00 2,46
2553241 169] 140 2,14 | 1,33 | 2,00 | 2,39 | 2,50 1,76 | 2,05 | 2,36
POCTY STUDENTU
pocty CJL | MAT| ANJ | FRJ | NEJ | DEJ | FYZ | CHE | ZEM | RUJ | ZSV | BIO |CELKEM
1A 32 32 32 0 0 1 0 8 3 0 17 3 128
5QA 32 32 27 5 7 3 7 3 2 9 1 128
50QB 31 31 31 0 0 4 1 5 0 0 20 1 124
95 95 90 5 7 8 8 16 5 46 5 380
POCET NEDOSTATECNYCH
nedostateéné | CJL | MAT | ANJ | FRJ | NEJ | DEJ | FYZ | CHE | ZEM | RUJ | ZSV | BIO |CELKEM
1A 0 4 0 0 0 0 0 0 0 0 0 0 4
5QA 0 2 0 0 1 0 0 0 0 0 0 0 3
50QB 0 6 0 0 0 0 0 0 0 0 0 0 6
0 12 0 0 1 0 0 0 0 0 0 0 13
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